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10.

OR (3121a1)

Explain modern size cookers used for cooking
size.

HfHT A1zl @ g Sy B arad
AT AL HTHY DI ATET I |

Explain with neat sketch working of scotch
dressing.

pid S RT B syl $1 W@
G & 1T AT B |

OR (312f1an)

Explain the operation of drawing-in is carried out
manually.

g & gRT SI8T—34 fhar gwrfea fear
SITdT 2, ARAT B |

Explain with neat sketch working of high any

one type of high speed winding machine. 6

St asfST 39 @ fedfl b yaR &1
a8 XQId © 91l 1R’ YUITell 31
AT DX |
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2019(Even)
Sem IV-TE
Yarn Prep & Wea Cal.
Full Marks : 70
Pass Marks : 28

Time : 3Hrs.

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries6 marks.

7u-C & wift ufg yeal @ SR <, UAS U &1 99 6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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Differentiate high speed and super speed winding.
4
STafa X a9 S A dded ¥ Iy
qdry |
OR (3121an)

Explain excessive yarn breakage which occur
during high speed winding from mule cops.

‘I U I3 H o4 Yol Hig 4§ dueH
BIdl @ dl SUT&T 91T Sedl & $9 B &l
AT I |

Explain the two main systems on which the various
sub-systems of counting of reeds are based. 4

A9 & fadt &) faft= werme ugfa, vra
R < g ggfa R ot 2, Sw@) e
B |

OR(37214)

Explain various allowances to be considered in
calculating the weight of yarn.

g & a9 &I TvHET d3a H fafae w5
R frar fear srar 2, @ & |

N4089

(i)

(iii)

(iii)

(iv)

3 1628401

Jad ool Ifd dded § dded b ard
#I de & fou fow avg &1 fEfor
AT BhaT 27

(3r) ar=T fAmtor

() ®ta i

(@) faf3ra faior

(?) s fosrfor

In automatic winding machine the yarn
breakage is reduced by using

(a) well built supply bobbins

(b) quality supply bobbins

(c) compact supply bobbins

(d) loose supply bobbins

warfad dded w29 H, arm &1 <en
foad gaiT A &9 fear sar 87

(31) smqfi sifew & =81 IA1ET

@) smyfxf sife=a & ot

(@) agRi difew & FaE W

(?) smyfxf sffew & dramus w

In automatic winding machine, unwinding
tension has been reduced by using.

(a) yarn tensioning device

(b) yarn clearing device

(c) yarn catching device

(d) yarn automatic device

P.T.O
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Answer all Five Questions.

xx)  guR Tfa 951 arffr g3 4, aifthr 99
BT FoIol AT BIdl &
(31) 20 s4
(@) 30 5=
(|) 40 34
() 50 5=

GROUPB

5x4=20

gl gfa g & S<x o |

2.

Explain the construction and working of any
type of creel used on a vertical mill warpes. 4

orgad fia arffT ¥ suar ey o ara
DI B 91ac 3R B B AT BN |

OR(3721dT)

Explain inherant defects of creel.

BT & URFERTTI SIY D) ARAT B |

N4089

(vi)

(vii)

(vii)

(viii)

5 1628401

Srfa 9 aiffT & gRT aFEr 949/
SITdT @, 98 &idl @

(3n) -

(@) ST

(|) qegw

(?) S=a oI

Super speed beam warping is used for the
preparation of

(a) Grey warp

(b) Long warp

(c) Sized warp

(d) Multi colour warp

affafRaa fa €9 &1 F1—— 91 @
fore gar fear wirar @

(3r) darT

(9) ot/ T arEr

(&) argsS A

(]) 3 T &1 drr

Super speed warping machine is so called
due to:

(a) Ligh warping speed

(b) Super warping speed

(c) Specific warping speed

(d) Terrific warping speed

P.T.O
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(xvi) S SHN &I STINT—— @ forv hdr

2

(31) ®Bler & W= aFn
(@) o1 e A arEr
(\) wier fafy=r =
(]) ¥ fafdr=1 <= arn

(xvii) Mechanical drawing in is

(a) Economical

(b) Very economical
(c) Very expensive
(d) Expensive

(xvi) TP QST 39 AT B

(31 fowrah

(@) dga fewrad
(&) d9ga "
() 5E™m

(xviii) Chain beaming is used for

(a) Very long warp
(b) Long warp

(c) Medium warp
(d) Short warp

N4089

(x)

(xi)

(xi)

(xii)

7 1628401

firer arftfr g1 Saurfed am & —fear
SIT bl 2

(@r) g

(9) w13V

() fearzs

(]) TprI3v%s

The small compartment of size box acts as a
(a) Boiling compartment

(b) Imersion compartment

(c) Storage compartment

(d) Delivered compartment

ISl 949 $T BICT WS 30 a8 d1
AT 2

(31) Sdcrar @S

(@) steiT Wvs

(&) MeH Qvs

(?) faazur @wvs

Which colours are used for tinting purpose?
(a) Sulphur colour

(b) Vat colour

(c) Basic colour

(d) Aniline colour

P.T.O
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11.

OR(37214)

“Rewinding of weft is necessary” Explain clearly.

“§HT BT Y: dUed Sodl & - T ATl
&Y |

Calculate the weight of warp and weft in a piece of
worsted fabric from the following particulars
fabric length 63 yards, warp length 70 yards, width
in reed 64 inches, Ends/inch in reed 50, picks/inch
in fabric 45, count of warp and weft=2/32° worsted.

6
fag g fFre=fafaa =i 4 aRds dus @
U$h Chs @ diF IR 99 @ qoid DI IA0ET
P BUS DI AHEIg 63 TS W, AT HIg 70
Iy, d< # 9ISt 64 349, BT 39 s #
50, T /39 HUsS H 45, dF 3R 91 &1
HIS< 2/32° ARCS

OR(37214T)

Determine amount of yarn required for warp and
weft from the following data-warp-ends/cm=32,
width=90cm, warping length 1680 mts, counts 36
texs, waste=4% weft-picks/cm=24, width in reed=
95¢cm, count=36 texs, cloth length=1600 mts,
waste=5%

P.T.O
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11.

OR (3721dT)

“Rewinding of weft is necessary” Explain clearly.

“§HT BT Y: ducd Sl & - T ATET
BN |

Calculate the weight of warp and weft in a piece of
worsted fabric from the following particulars
fabric length 63 yards, warp length 70 yards, width
in reed 64 inches, Ends/inch in reed 50, picks/inch
in fabric 45, count of warp and weft=2/32’ worsted.

6
feg ¢ fr=fafaa =i 4 ards dus @
Udh CPhs @ a1 3R 911 & goid DI IA0ET
PN BUS DI AHEIS 63 TS W, AT aHTg 70
a9, s ¥ dISTs 64 39, BT 39 A A
50, T /39 HUS H 45, A 3R 99 &1
B 2/32° dRCS

OR (3721dT)

Determine amount of yarn required for warp and
weft from the following data-warp-ends/cm=32,
width=90cm, warping length 1680 mts, counts 36
texs, waste=4% weft-picks/cm=24, width in reed=
95cm, count=36 texs, cloth length=1600 mts,
waste=5%

P.T.O
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